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QUESTION ONE: UNACCOMPANIED CHORAL MUSIC

Refer to the extracts from a choral arrangement of the song “Hine e Hine” to answer this question.

Slow and smooth .=c. 56

EXTRACT ONE Princess Te Rangi Pai (arr. Diane Cooper), “Hine e Hine”, bars 14
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(a) Identify the key of Extract One, and give TWO pieces of evidence from the score to support

your answer.

Key: L?) b M QJQJ

1 \here ase 2 fak wm The kej s‘vqnq%u,fe,

The first note is Bb. More accurately,

) The Ciet note i « [2 | itis the first CHORD (Bb major) that

The first and last chords are correctly identified. For
Merit the ringed chords need to be in the correct
inversion — Vb and 1b — indicating first inversion.

provides evidence of the key.

TWO accurate evidence statements
were needed to achieve with merit.

(b) (i) Addchord indications in the boxes beneath the score, using Roman numerals.

(i)  The final two chord indications have been provided. Add one note per chord to the alto,

tenor, and bass parts to complete the harmony.

(ii)  Name the cadence formed by these two chords.

Rev (et

To achieve with merit, ONE of the two

chords needs to be accurately notated.

* The rhythm needs to match that of
the given part (a dotted minim).

* The bass note needs to be notated

in the bass clef: o HF—F—3
B e o
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(c) Create a keyboard reduction of the first two bars of Extract One.
. put two notes in the right hand and two notes in the left hand part.
. include all necessary performance directions (don’t include lyrics).
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Keyboard

.
[
-

N
t—-#
D)

(d) “Hine e Hine” is a lullaby (a song meant to send a child to sleep).

Identify TWO musical elements or features in Extract One that create an appropriate mood
for a lullaby, and explain how they are used.

m The wi\PO s slow and  smooth -
56 bPW\

@ Ihe prece IS Mol kel WP — mOolermt|
iz

(c) Careless use of stems: (d) For merit achievement, response
1. Stem on wrong side of note needs to state how these features
2. Stem missing create the mood of a lullaby.

To achieve with merit the tenor part
needed to be an octave higher.
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EXTRACT TWO Princess Te Rangi Pai (arr. Diane Cooper), “Hine e Hine”, bars 38—41
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(e) (i) Identify ONE similarity and TWO differences between Extracts One and Two, and give
specific evidence from the score to support your answers.

Similarity: S amwve WO (OL( {Cﬂ‘ \D Om é)(\"{CZC/"S

Difference (1): DI\C{QY‘@V\# Ckkjﬂﬁ( mt e —
f nstead of P

The candidate needed to give the meaning of f (forte — loud) and note that there are two
different dynamic levels in Extract 1. The melody is marked mf (mezzo forte — moderately
loud) and the accompaniment / other voices are marked mp (mezzo piano — moderately soft).

Difference (2): W@'{Q \MK yotuces

WM extract 2

Merit evidence would include evidence that each voice in Extract 2 contained
two parts — SS, AA, TT, BB, whereas Extract 1 was for SATB choir.
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Explain how the sound of Extract Two would differ from the sound of Extract One.

I would be |ouder

This response lacked the detail necessary, even for achievement.

A4




QUESTION TWO: CHAMBER MUSIC

Refer to the extracts from the first movement of Francis Poulenc’s Sextet for piano and wind quintet

to answer this question.

EXTRACT THREE Francis Poulenc, Sextet (1932), first movement, bars 13—16
13 (Allegro vivace) 1
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(@) Write an appropriate time signature at the beginning of Extract Three.

(b) Describe the scale used in the flute part (e.g. “An ascending scale of A major”).

A‘ de?cema\m\c‘ C;LWOM a}tg SC-CJ‘L 0€ e WQ‘\TJ\

() () Add articulation markings to the flute part to indicate that:
. semiquavers should be played /legato
. quavers should be played staccato.

A chromatic scale has
no links to a major (or
minor) scale. It begins
on E.

(ii)  Add articulation markings to the right hand of the piano part to indicate that:

. the scales should be played in two-bar legato phrases.

The three notes should have been marked with a slur.

final note in the bar.

1 This candidate did not understand the difference between a tenuto mark and legato.

For c (ii) candidates were required to write 2 phrases, each of which lasted for 2 bars.
2  The phrase marks were carelessly written, and each should have ended above the




(d)

(e)
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Explain the type(s) of texture used in Extract Three, and give specific musical evidence to
support your answer.

Tha lextuwe (s polyphonie . Thie 1s becqien lhere
Cue= W\ slo \g

e L)__M\_y\ at dnce
M fule ) oboe amd P(cmO).

g played [<pecial

For merit, the candidate needed to explain that
each part had an independent rhythm AND melody.

Explain TWO compositional devices that have been used in Extract Three, and give specific
musical evidence to support your answer.

(1) Rep€f|+,@m PlOU’)O P\QJE_QCLK SAwre. ”hjmg,
tn LJa,"g L§ ""Qa

@ Sequeupce  Obde repads notes up @

Ltle .

This extract did not
contain a sequence.




Poulenc, Sextet (1932), first movement, bars 35-38

EXTRACT FOUR
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Explain why the French horn part changes from bass clef to treble clef in Extract Four.

U]

?A ‘—95(632/{' I I\;‘-Q,S An accurate response

lo anvp o

—
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Explain what each of the following terms and symbols used in Extract Four would mean to
the player.

Very  soft

Term/ :
symbol What it would mean to the player
If alternative responses are aiven, only the first will be considered
5 1 P
\QLJ an octauve l’\\jlf).qr @.‘L[_ﬁ_we_r
rﬁ'ﬁp

Piu means more.

Because two parts of this item were not attempted,
there was insufficient evidence overall to achieve.

Accent the V)Q!X'e,

UG (1|

Cvrush n QTQ

Aqg\o\ﬂed Quickly

rore
The intervals of the first two bars matched the original
EXTRACT FIVE passage (with allowance for one error, even although the
key signature was inaccurate.
147
: T 1 /—\!7_\ ——
Clarinet - 4P & - —
2 / Vi | — L g \\_h
in Bb <Y — i €
Q) mp e |
Clarinet e l‘ - ) - - P e
(concert pitch) 7——V—+ M i 1 - e I
DA A ] ¥ /’\ €
The key signature was not only inaccurate, but also

inaccurately written. A key signature of 4 sharps is written

(h)

1.

Note that if there was an accidental in the original passage, notes

in the transposed part will also require an accidental.

A\

Transpose the clarinet part in Extract Five into concert pitch (the pitch the audience will
hear). Add a key signature, and include all performance markings.

A4
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QUESTION THREE: INSTRUMENTAL JAZZ COMBO

Refer to the extracts from a simplified arrangement of the jazz standard Take Five to answer this

question.
EXTRACT SIX Paul Desmond (adapted), Take Five, bars 9-12
9 (Swing feel . = 160)
o) 4
Alto A 5—(5Y - I - ! - — /o ]
Saxophone @U At Ta I { I » I
mf
#ﬁm\ T T T T T T : T
1 | 2 & (> | 2 Il o“ | . & | 27 T o Y 2
_%QLH&;/ i 7 % & 7 ; 7 %2 71 i va & | 7/ 7 rY
E 3 4 g i E
Piano o . & ’ ’ ’ & ’ . &
| |
S Y 47 » m—r— i —e— ¥t <& ] I > a— 3 I
v ,' | 7 I\I‘A 7 T 7 1\,‘\ o) 1 7 I\IA  J T | 7 I\,A [ |
T —— e T B e =
| | S I N S T O
Bass  E——(gys—r—¢ S s B e
Guitar B AL 74 3 3 3|
mp
on rim
| N T R SR N—
Drum Kit il:t%—‘—Lﬁj—‘t—‘—‘ [Fo=7 et 7 !
A A S 2
mp
. . Five crotchet beats
(@) Explain the metre of Extract Six.

TTo—<gn Smple Guintu

Comment on the effect of the tempo indication on the way the music would be performed,

(b)

and give specific musical evidence to support your answer.

@\ <

per bar would have
sufficed as a merit
response.
This metre is irregular

The response is accurate,

|60 b\:)'m
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(c)  Explain how each of the following terms and symbols used in Extract Six would be played.

Symbol How it would be played

The candidate neglected to state how staccato
C (‘ e a}'o would be played — ie short and detached.

b

on rim it he vim of fle Share dvum

legateo — Woleh oy r{(ap\ﬂ

The tenuto sign means hold the note for its full value.

\J (GV\agf

= it the crash sS4 e |

The arrow points to a sign for a roll on the cymbal

P'a‘j notring /yest

Repeat the previous bar.

B | )

Insufficient evidence to achieve for this item.
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EXTRACT SEVEN Paul Desmond (adapted), Take Five, bars 25-28
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(d) Describe the intervals bracketed and labelled (1)—(6) in Extract Seven. State both the quality
and quantity of each interval (e.g. “minor seventh”).
(1) W\ QJU ' 2 hO\ ) W QJO'f g Tl"‘
(3) W\“\jC’f srd @ Minor 3vd
(5) VV\QJ o1+ ?)‘I‘d (6) OC*QU C
() (i) Add chord indications for the chords in the piano part, using jazz/rock notation, in the
boxes above the right-hand stave.
(i) Name the cadence formed by the final two chords.
\ m \DQ/F@Q CT (e) Chord indications:
(i) The candidate considered neither the
key signature nor the piano LH (bass
(d) Intervals: clef) when attempting to identify the
(1) v chords.
(2) 5ths are never major (or minor). They (i) Correct identification of the chords
are perfect, augmented or diminished. should have helped with cadence
(3) & (4) Candidate needed to check identification.
carefully which notes were The correct identification of this
bracketed. cadence
(5) Like 5ths, octaves can be perfect, shows the value of always
augmented or diminished. attempting to answer.




13

EXTRACT EIGHT Paul Desmond (adapted), Take Five, last three bars
)
Alto A e . — ————” T, c— s 1 ﬂ
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mp Jf
m ~
solo fill i j
| | J | | st J. fill
[ 1 [N 1 |
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¢ i
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r 7 =7 g |

)

9

Rewrite the bass guitar part in Extract Eight in standard notation in the bass clef.

. The bass is in standard tuning (i.e. the strings are tuned E-A-D-G from lowest to
highest).

. Include the key signature.

Bass Guitar
(tablature)

o>—
w

N1
i

C

w

¢
L

2 : m A n)
1 N\ N =
Bass Guitar [&): ~—® \s\‘f

(notation) ‘l'1

~

! "
A\i

What will the instructions to the drummer in the last two bars (highlighted on the score) mean
to the player? Give specific musical evidence to support your answer.

Do a fi \Owdlﬂ(tﬁmo{ mprovise
* solo.

N =~
-~

(g) The candidate needed to fully explain the
difference between a solo fill and a fill, and

The key signature was  omitted explain the significance of the three pauses /

The final note in each bar should fermatas.

have been a minim.

The rhythm was the same.as the
piano LH.

A4






